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1.1 A-1

LN

struct Person {
float height;
float weight;
int id;

}s

int main () {
struct Person person;
int a,b,c,d;

float e,f,qg,h;

float hei = 170.0;
float wei = 75.0;
person.height = hei;
person.weight = wei;

person.id = p;

return 0;

otk

Error type 1 at Line 15: Undefined variable.
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1.2 A-2

LN

struct Position {
float x;
float vy;

bi

float cal (struct Position ppl,
return (ppl.x - pp2.x) *

.Y — PpP2.VY);

float main () {
struct Position pl, p2;
dis(pl, p2);

return 1.11;

(ppl.x - pp2.Xx)

+

struct Position pp2) {

(ppl.y - pp2.y)

*

(ppl

itk

Error type 2 at Line 12: Undefined function

'dis'.

YA S 12 47h, eREL dis B BUAE T .

1.3 A-3

LN

struct Position {
float x;
float y;

bi

float cal (struct Position ppl,

return

(ppl.x - pp2.x) * (ppl.x - pp2.x)

.Y — PpP2.VY);

+

struct Position pp2) {

(ppl.y - pp2.y)

*

(ppl




float main () {
struct Position pl, p2;
float pl = cal(pl, p2);

return 0.1;

i

Error type 3 at Line 12: Redefined variable 'pl'.
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N

struct Position {
float x;
float vy;

}s

float cal (struct Position ppl, struct Position pp2) {
return (ppl.x - pp2.x) * (ppl.x - pp2.x) + (ppl.y - pp2.Vy)

.Y — PP2.Y);

float equal (struct Position pp3, struct Position ppi4) {

return pp3.x - ppéd.x;

float equal (struct Position ppb5, struct Position pp6) {

return ppbS.y - pp6.y;

*

(ppl
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float main () {
struct Position pl, p2;

return cal (pl, p2):

itk

Error type 4 at Line 14: Redefined function 'equal'.
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1.5 A-S

LT

struct Position {
float x;
float vy;

bi

float cal (struct Position ppl,

struct Position pp2) {

return (ppl.x - pp2.x) * (ppl.x - pp2.x) + (ppl.y - pp2.Vy)

.Y — PP2.Y);

float xDis(struct Position pp3,

return pp3.x - pp4d.x;

float yDis (struct Position ppb,

return ppbS.y - pp6.y;

struct {
int iy
int j;

struct Position pp4) {

struct Position pp6) {

*

(ppl
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int ads;

} persons;

float main () {

struct Position pl, p2;

pl.x

persons. J;

return cal (pl, p2);

otk

Error type 5 at Line 26:

Different types at both side of
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struct Position {
float x;
float vy;

}s

float cal (struct Position ppl,
return (ppl.x - pp2.x) *

.Y — pPp2.y);

float xDis(struct Position pp3,

return pp3.x - ppéd.x;

float yDis(struct Position pp5,

return pp5.y - ppb6.y;

(ppl.x - pp2.x)

struct Position pp2) {

+ (ppl

(ppl.y - pp2.y) *

struct Position pp4) {

struct Position ppb) {
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struct {

int i;
int j;
int ads;

} persons;

struct tempStruct({
float f£;
float gy

} structures;

float main () {
struct Position pl, p2;
yDis (pl, p2) = structures. g;

return cal (pl, p2);

otk

Error type 6 at Line 31: Invalid left value.
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1.7 A-7

LD

struct Position {
float x;
float vy;

}s

float cal (struct Position ppl, struct Position pp2) {
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return (ppl.x - pp2.x) *

.Y — PP2.Y);

float xDis(struct Position pp3,

return pp3.x - ppéd.x;

float yDis (struct Position ppb,

return ppbS.y - pp6.y;

struct {
int iy
int 3j;
int ads;

} persons;

struct tempStruct{
float f£;
float gy

} structures[100];

float main () {

(ppl.x - pp2.x) +

(ppl.y - pp2.vy)

struct Position pp4) {

struct Position pp6) {

*

(ppl

struct Position pl, p2;
structures[0]. g = yDis(pl, p2);
persons + structures;
return cal (pl, p2);
}
ity
Error type 7 at Line 32: Bad type(s) for '+' operation.




20

21

22

23

24

25

26

Wl 58 32 7, ANREIE— DR R

1.8 A-8

LN

struct Position {
float x;
float vy;

bi

float cal (struct Position ppl, struct Position pp2) {
return (ppl.x - pp2.x) * (ppl.x - pp2.x) + (ppl.y - pp2.y) * (ppl
.Y — PP2.y);

float xDis(struct Position pp3, struct Position pp4) {

return pp3.x - pp4d.x;

float yDis(struct Position ppb5, struct Position pp6) {

return pp5.y - ppb.y;

float inner product (struct Position ippl, struct Position ipp2) {

return ippl.x * ipp2.x + ippl.y + ipp2.y;

float main () {
struct Position pl, p2;
inner product(pl, p2);

return pl;

ot
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Error type 8 at Line 25: Return type mismatch.
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1.9 A-9

LN

struct Position {
float x;
float y;

bi

float cal (struct Position ppl, struct Position pp2) {

return (ppl.x - pp2.x) * (ppl.x - pp2.x) + (ppl.y - pp2.y) * (ppl

.Y - pp2.y);

float xDis (struct Position pp3, struct Position pp4) {

return pp3.x - ppéd.x;

float yDis(struct Position ppb5, struct Position pp6) {

return ppdS.y - pp6.y;

float inner product (struct Position ippl, struct Position ipp2)

return ippl.x * ipp2.x + ippl.y + ipp2.y;

float main () {
struct Position pl, p2;
struct Position p[100];

inner product(p[0], pl, p2);

11
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return cal (pl, p2);

otk

Error type 9 at Line 25: Funtion args mismatch.
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1.10 A-10

LD

struct ClassRoom {
int cid;
struct Position {
int bid;
int rid;

} position;

struct Teacher {
int tid;
int tgender;
int course;

} teacher;

struct Student {
int sid;
int sgender;
int grade;

} students[100];

} classRooml, classRoom2, classRoom3;

int ave grade(struct ClassRoom cr) {

int sum = 0;

12
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int index = 0;
while (index < 100) {
sum = sum t+ cr.students[index].grade;

}

return sum / 100;

int main() {
int avel = ave grade (classRooml) ;
int ave2 = ave grade(classRoom2);
int ave3 = ave grade(classRoom3);

if (avel > ave2 && avel > ave3[0]) {
return 1;

}

else/{

return O;

it

Error type 10 at Line 36: Apply [] to non-array variable.
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1.11 A-11

LN

struct ClassRoom {
int cid;
struct Position {
int bid;

int rid;

13
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} position;

struct Teacher {
int tid;
int tgender;
int course;

} teacher;

struct Student {
int sid;
int sgender;
float grade;

} students[100];

} classRooml, classRoom?2, classRoom3;

float ave grade(struct ClassRoom cr) {
float sum = 0.0;
int index = 0;
while (index < 100) {
sum = sum + cr.students[index].grade;
}

return sum / 100.0;

int main() {
float avel = ave grade(classRooml) ;
float ave2 = ave grade(classRoom2) ;
float ave3 = ave grade(classRoom3);

avel (ave2, ave3l);

14
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Error type 11 at Line 36: This is not a function.
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1.12 A-12

LU

struct ClassRoom {
int cid;
struct Position {
int bid;
int rid;

} position;

struct Teacher {
int tid;
int tgender;
int course;

} teacher;

struct Student {
int sid;
int sgender;
float grade;

} students[100];

} classRooml, classRoom2, classRoom3;

float ave grade(struct ClassRoom crl) {
float sum = 0.0;
int index = 0;
while (index < 100) {

sum = sum + crl.students[index].grade;

15
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index = index + 1;
}

return sum / 100.0;

float sumUp (float gl, float g2, float g3) {

return gl + g2 + g3;

int unique sid check(struct ClassRoom cr2, float ind) {
int ssid = cr2.students[ind].sid;
int 1 = 0;
while (i < 100) {
if (cr2.students[i].sid == ssid) {

return O;

return 1;

float main () {
float avel = ave grade(classRooml);
float ave2 = ave grade(classRoom2) ;
float ave3 = ave grade (classRoom3) ;

sumUp (avel, ave2, ave3);

unique sid check(classRooml, 1.0);

farth

Error type 12 at Line 37: Non-integer index of array.
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1.13 A-13

LN

struct ClassRoom {
int cid;
struct Position {
int bid;
int rid;

} position;

struct Teacher {
int tid;
int tgender;
int course;

} teacher;

struct Student {
int sid;
int sgender;
float grade;

} students[100];

} classRooml, classRoom2, classRoom3;

float ave grade(struct ClassRoom crl) {
float sum = 0.0;
int index = 0;
while (index < 100) {

sum = sum + crl.students[index].grade;

17
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index = index + 1;
}

return sum / 100.0;

float sumUp (float gl, float g2, float g3) {

return gl + g2 + g3;

int unique sid check(struct ClassRoom cr2, int ind) {
int ssid = cr2.students[ind].sid.id;
int 1 = 0;
while (i < 100) {
if (cr2.students[i].sid == ssid) {

return O;

return 1;

float main () {
float avel = ave grade(classRooml);
float ave2 = ave grade(classRoom2) ;
float ave3 = ave grade (classRoom3) ;

sumUp (avel, ave2, ave3);

unique sid check(classRooml, 1);

farth

Error type 13 at Line 37: Applying . to non-structure variable O.
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1.14 A-14

LD

int a;

float b;

struct Car {
int c _id;
float c_speed;
struct Location {
float ¢ longitude;
float ¢ latitue;
} ¢ location;

}s

int foo () {
struct Car c;
c.c_id = 0;
c.c_speed = 1.0;
c.c_location.c latitue = 100.9;
c.c_location.c longitude = 123.3;

return c.c i;

ot

Error type 14 at Line 19: Non-existent field.
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1 int a;
2 float Db;
3
4 struct Car {
5 int c id;
6 float c speed;
7 struct Location {
8 float ¢ longitude;
9 float ¢ latitue;
10 } ¢ location;
11
12 struct {
13 int c x;
14 int c y;
15 } ¢ location;
16 }s
17
18 int foo() {
19 struct Car c;
20 c.c_id = 0;
21 c.c_speed = 1.0;
2 return 0;
23 }
i H

1 |[Error type 15 at Line 15: Redefined field.

Uil 25 15 479, ¢ location 555 10 /7 o %45 AT LMRAESS 10 17.

1.16 A-16

LIPN

1 struct ClassRoom {

20
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int cid;

struct Position {
int bid;
int rid;

} position;

struct Teacher {
int tid;
int tgender;
int course;

} teacher;

struct Student {
int sid;
int sgender;
float grade;

} students[100];

} classRooml, classRoom2, classRoom3;

float ave grade(struct ClassRoom cr) {
float sum = 0.0;
int index = 0;
while (index < 100) {
sum = sum t+ cr.students[index].grade;

}

return sum / 100.0;

struct Teacher {
struct ClassRoom classRoom;

}s

21
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int main() {

float avel

ave grade (classRooml) ;

float ave2 ave grade (classRoom2) ;

float ave3 = ave grade(classRoom3) ;

it

Error type 16 at Line 31: Redefined structure 'Teacher'.
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1.17 A-17

N

struct Node ({
int id;
int next;
int prev;

}s

struct Edge edges[100];

int add next (struct Node curNode, struct Node nextNode) {
curNode.next = nextNode.id;

nextNode.prev = curNode.id;

int main () {
struct Node nodel, node2;

add next (nodel, node2);

22
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Error type 17 at Line 7: ©Undefined struct type 'Edge'

Wl 2 7 AT, N TORE USRS Edge.

1.18 A-18

LIPN

struct Node({
int id;

}s

struct Edge {
struct Node from;
struct Node to;

} edges[100];

int main () {
int a = 100;

return edges + a;

itk

Error type 7 at Line 13: Bad type(s) for '+' operation.
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LIPAN

struct Point int({
int 1 x;
int 1 y;

}s

23
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struct Point float({
float £ x;
float £ y;

b

int distance int (struct Point int ipl, struct Point int ip2) {

return (ipl.i x - ip2.i x) * (ipl.i x - ip2.i x)

.iy) * (ipl.i y - ip2.1i y);

+ (ipl.i y - ip2

float distance float (struct Point float fpl, struct Point float fp2

) {
return (fpl.f x - fp2.f x) * (fpl.f x - fp2.f x)

£ y) * (fpl.f yv - fp2.f y);

int main () {
struct Point int pil, piZ2;
struct Point float pfl, pf2;
distance float(pil, piZ2);

distance float (pfl, pf2);

+ (fpl.f y - fp2

ok

Error type 9 at Line 22: Funtion args mismatch.
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1.20 A-20

LN

struct Student {

int sid;

24




3 int age = 10;
4 bi

6 struct Teacher {
7 int tid;
8 int course;

9 }s

1 struct ClassRoom{

12 struct Student students[100];
13 struct Teacher teacher;
14 }i
15
16 int main () {
17 struct ClassRoom classRooml;
18 classRooml.teacher.course = 10;
19 }
vt

1 |[Error type 15 at Line 3: Illegal use of assignment.
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2.1 B-1

LD

1 struct Rectangle(

2 float r length = 100.0;
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float r width;

}s

struct Triangle({

float t height;

float t width;

}s

float area rec(struct Rectangle rec) {

return rec.r length * rec.r width;

int area tri(struct Triangle tril) {

return tril.t height * tril.t width;

float area tri(struct Triangle tri2) {

return tri2.t height * tri2.t width;

int main () {

struct Rectangle rectangles[100];

struct Triangle triangles[50];

float area;

area rec (rectangles[0])

= areay

ity
Error type 15 at Line 2: Illegal use of assignment.
Error type 8 at Line 16: Return type mismatch.
Error type 4 at Line 19: Redifined function 'area tri'.
Error type 6 at Line 27: LHS are a right-value-only Expression.
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22 B-2

LU

struct Rectangle {
int tlx, tly;
int w, h;

}s

struct Circle {
int cx, cy;
int cr;

}s

struct Rectangle makeRect (int etlx,

struct Rectangle erect;

erect.tlx = etlx;

erect.tly etly;
erect.rw = ew;
erect.h = eh;

return erect;

struct Circle makeCirc(int fcx,

struct Circle fcirc;

fcirc.cx = fcx;

fcirc.cy fcy;

fcirc.cr fcr;

return fcirc(12);

int fcy,

27

int etly,

int fcr)

int ew,

{

int eh)

{
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int calArea (struct Rectangle arect) {

return arect.w * arect.h;

int calArea(struct Circle bcirc) {

return 3 * bcirc.cr * bcirc.cr;

int isRCover (struct Rectangle drect, int dx, int dy)
int dtop = drect.tly;
int dleft = drect.tlx;
int dbottom = dtop + drect.h;

int dright = dleft + drect.w;

if (dleft <= dx && dx <= dright) {
if (dtop <= dy && dy <= dbottom) {

return 1;

return 0;

int main() {
struct Rectangle mr = makeRect(l, 4, 32, 53);
struct Circle mc = makeCirc(12.1, 21, 4.3);
int mx = 12, my = mc.cx * mc.cy / mc.cr;

return isRCover (mr, mx, my);

{

farth

Error type 14 at Line 15: Non-existent field "rw".

28




Error type 11 at Line 25:
Error type 4 at Line 32:
Error type 9 at Line 53:

makeCirc".

Function required but get "fcirc".

Redefined function "calArea".

Al

Arguments types mismatch for function

W 55 15 177, Rectangle ZERAHPAE U8 rw, LA TT LAZ i — 1> 5 BUER IR . 1R85 2517

b SERHO ARBEH R R T 455

AL T LAZ Al — > 8 BUAR TR FE2H 32 47, HEE XL

T IREr cal Area’; FE55 53 ATHY, BB LSRRI GRS A ILRC.

3 CHAHMKABG

A BILL 2 4>, A S TREER.

31 C-1

LIPN

struct Combination {
int c base;
int ¢ num;
int c_answer;

}s

struct Permutation{
int p base;
int p num;
int p answer;

}s

int factorial (int n) {
int £ sum =

int index =

I
=}

while (index >
f sum =
1;

index = index -

f sum * index;

29
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}

return f sum;

int calculation combination(struct Combination com) {

int cc_sum = 1;

cc_sum = cc_sum * factorial (com.c base);

cc_sum = cc_sum / factorial (com.c num);

cc_sum = cc_sum / factorial (com.c base - com.c num);

return cc sum;

int calculation permutation(struct Permutation per) {
int cp sum = 1;

cp_sum = cp_sum * factorial (per.p base);

Cp_sum cp sum / factorial (per.p base - per.p answer);

return cp sum;

int main () {
struct Combination coml;

struct Permutation perl;

perl.p base = coml.c base = 4;
perl.p num = coml.c num = 2;
coml.c_answer = calculation combination (coml);

perl.p answer = calculation permutation (perl);

return O;

it
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32 C-2

LIPN

struct ArithmeticalSequence({
int as_aO0;
int as d;
int as num;

}s

struct GeometricSequence({
int gs_a0;
int gs g;
int gs num;

}s

int arithmeticalSequenceSum(struct ArithmeticalSequence as) {
int as last = as.as a0 + (as.as num - 1) * as.as d;

return (as.as a0 + as last) * as.as num / 2;

int geometricSequenceSum (struct GeometricSequence gs) {
int gs _sum = gs.gs_a0;
int gs_temp = gs.gs_a0;
int gs index = 1;
while (gs index < gs.gs num) {
gs_index = gs_index + 1;
gs _temp = gs temp * gs.gs qg;
gs_sum = gs_sum + gs_ temp;
}

return gs sum;

31
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int main () {

struct ArithmeticalSequence asl;
struct GeometricSequence gsl;

int sum = arithmeticalSequenceSum(asl)

) ;

return sum;

+ geometricSequenceSum (gsl

i

4 D AHMKXABG
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41 D-1

LIPN

struct Combination {
int c base;
int c_num;
int c _answer;

}s

struct Permutation/{
int p base;
int p num;
int p answer;

}s

int factorial (int n);

32




20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

int factorial (int n) {

int £ sum 1;

int index n;
while (index > 1) {
f sum = £ sum * index;

index = index - 1;

}

return f sum;

int calculation combination(struct Combination com) {

int cc_sum = 1;

cc_sum = cc_sum * factorial (com.c base);

cc_sum = cc_sum / factorial (com.c num);

cc_sum = cc_sum / factorial (com.c base - com.c num);

return cc_ sum;

int calculation permutation (struct Permutation per) {
int cp sum = 1;
cp_sum = cp sum * factorial (per.p base);
cp_sum = cp _sum / factorial (per.p base - per.p answer);

return cp sum;

int calculation combination(struct Combination com);

int main () {
struct Combination coml;

struct Permutation perl;
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perl.p base = coml.c base
perl.p num = coml.c num
coml.c answer = calculation combination(coml) ;

perl.p answer = calculation permutation (perl);

return O;

int calculation permutation(struct Permutation per);

otk
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int O ADD;

int O PRD;

int O_SUB;

int O DIV;

struct Operation {
int oType;

int opt;

int T INT;
int T FLT;
struct BinData {

int bdType;

int bdIDatal[2];

float bdFDatal2];

}s

34




20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

int MLEN;
struct MulData {
int mdType;
int mdIData[100];

float mdFData[100];

struct Result {
int rType;
int valid;
int iRes;

float fRes;

int initArith() {

O_ADD = 0;
O _PRD = 1;
O _SUB = 2;
O DIV = 3;
T INT = 4;
T FLT = 5;
MLEN = 100;

return 0;

int cnt;

struct Result binOperator (struct Operation operation,
BinData binData) {
struct Result result;
result.valid = 1;

if (operation.opt == O ADD) {
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result.iRes = binData.bdIData[0] + binData.bdIData[l];

result.fRes = binData.bdFData[0] + binData.bdFData[l];

} else if (operation.opt == O PRD) {

result.iRes binData.bdIData[0] * binData.bdIDatal[l];

result.fRes = binData.bdFData[0] * binData.bdFData[l];

} else if (operation.opt == O SUB) {
result.iRes = binData.bdIData[0] - binData.bdIData[l];
result.fRes = binData.bdFData[0] - binData.bdFDatal[l];
} else if (operation.opt == O DIV) {

result.iRes = binData.bdIData[0] / binData.bdIDatal[l];

result. fRes binData.bdFData[0] / binData.bdFDatal[l];
} else {
result.valid = 0;

}

result.valid = result.valid && (operation.oType == binData.

bdType) ;

result.rType operation.oType;

return result;

struct Result mulOperation (struct Operation operation, struct
MulData mulData) {

struct Result result;

int cnt = 0;

result.valid = 1;

if (operation.opt == O ADD) ({
result.iRes = 0;
result.fRes = 0.0;

} else if (operation.opt == O PRD) {
result.iRes = 1;
result.fRes = 1.0;

} else {

36




79

80

81

82

83

84

85

86

87

88

89

90

91

92

93

94

result.valid = 0;
}
while (cnt < MLEN) {
if (operation.opt == O ADD) ({
result.iRes = result.iRes + mulData.mdIDatalcnt];
result.fRes = result.fRes + mulData.mdFData[cnt];

} else if (operation.opt == O PRD) {

result.iRes result.iRes * mulData.mdIDatal[cnt];

result.fRes = result.fRes * mulData.mdFData[cnt];
}
cnt = cnt + 1;

}

result.valid = result.valid && (operation.oType == mulData.
mdType) ;
result.rType = operation.oType;

return result;

itk
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struct S1 {
int al,bl;
float c1,dl;
int iarrayl[100];
float farrayl[50];
struct {

int aal,bbl;
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float ccl, ddi;
} sdil;
struct SS1 {
int ssiarrayl[100];
} ss1[1007;
bi

struct S2 {
int a2,b2;
float c2,d2;
int iarray2[100];
float farray2[50];
struct {
int aa2,bb2;
float cc2, dd2;
} sd2;
struct SS2 {
int ssiarray2[100];
} ss2[1007;
}i

int compare (struct SS1 tssl, struct SS1 tss2) {
int 1 = 0;
while (i < 100) {
if(tssl.ssiarrayl[i] != tss2.ssiarrayl[i]) {

return O;

return 1;
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int equal (struct S1 tsl, struct S1 ts2) {

int index;
int j;
if(tsl.al != ts2.al || tsl.bl

return O;

index = 0;
while (index < 100) {
if(tsl.iarrayl[index] != ts
return O;

}

index = index + 1;

if(tsl.sdl.aal != ts2.sdl.aal

return O;

index = 0;
while (index < 100) {
if (compare(tsl.ssl[index],
return 0;

}

index = index + 1;

return 1;

int main() {

= ts2.bl) {

2.iarrayl[index]) {

|| tsl.sdl.bbl !=

ts2.ssllindex]) ==

39
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struct S1 mySl1;
struct S2 myS2;

equal (myS1l, myS2);

itk
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struct Combination {
int c base;
int ¢ num;
int c_answer;

}s

struct Permutation({
int p base;
int p num;
int p answer;

}s

int factorial (int n);

int factorial (int n) {

int £ sum = 1;
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int index = n;

while (index > 1) {

f sum f sum * index;

index = index - 1;

}

return f sum;

int calculation combination(struct Combination com) {

int cc _sum = 1;

cc_sum = cc_sum * factorial (com.c base);
cc_sum = cc_sum / factorial (com.c num);
cc_sum = cc_sum / factorial (com.c base - com.c num);

return cc_ sum;

int calculation permutation(struct Permutation per) {
int cp sum = 1;

cp_sum = cp_sum * factorial (per.p base);

Ccp_sum cp sum / factorial (per.p base - per.p answer);

return cp sum;

int calculation combination(struct Combination com);

int main () {
struct Combination coml;
struct Permutation perl;
perl.p base = coml.c base = 4;

perl.p num = coml.c num = 2;
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coml.c_answer = calculation combination (coml);

perl.p answer = calculation permutation (perl);

return O;

int calculation permutation(struct Permutation per);

int calculation(struct Combination com,

struct Permutation per);

int calculation combination (struct Permutation per);

i (RERRYE)

Error type 18 at Line 56: Undefined function "calculation".

ity (mIE)

Error type 18 at Line 56: Undefined function "calculation".

Error type 19 at Line 58: Inconsistent declaration of function

calculation combination".
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struct Combination {
int c base;
int ¢ num;
int c _answer;

}s

struct Permutation/{
int p base;

int p num;
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int p answer;

}s

int factorial (int n) {

int sum = 1;

int index = n;

int tempArray;

tempArray[0] = 1;

while (index > 1) {
sum = sum * index;
index = index - 1;

}

return sum;

int calculation combination (struct Combination com) {

int sum = 1;

sum = sum * factorial (com.c base) * 1.0;

sum = sum / factorial (com.c_num) ;

sum = sum / factorial (com.c _base - com.c num);

return sum;

int calculation permutation(struct Permutation per) {
int sum = 1;

sum = sum * factorial (per.p base);

sum sum / factorial (per.p base - per.p answer);

return sum;

int main () {
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struct Combination coml;

struct Permutation perl;

perl.p base = coml.c base = 4;
perl.p num = coml.c num = 2;
calculation combination(coml) = coml.c answer;
perl.p answer = calculation permutation (perl);
return 0;
}
i H
Error type 10 at Line 17: Apply [] to non-array variable.

Error type 7 at Line 27: Bad type(s) for operation.

Error type 6 at Line 46: Invalid left wvalue.
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struct Combinations {
struct Combination{
int c base;
int c num;
} combinations[10];
int c_answer = 100;

b

struct Permutations {

int p answer;
struct Permutation({
int p base;

int p num;
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} permutations[10];

}s

int factorial (int n) {
int £ sum = 1;
int £ index = n;
while (f index > 1) {
f sum = £ sum * £ index;
f index = f index - 1;
}

return f sum;

int calculation combination(struct Combination com) {

int cc sum = 1.0;

cc_sum = cc_sum * factorial (com.c base);

cc_sum = cc_sum / factorial (com.c num);

cc_sum = cc_sum / factorial (com.c base - com.c num);

return cc_ sum;

int calculation permutation(struct Permutation per) {
int cp sum = 1;
cp_sum = cp_sum * factorial (per.p base);
cp_sum = cp sum / factorial (per.p base - per.p num);

return cp sum;

int calculation(struct Combinations coms) {

int ¢ index = 0;
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int ¢ _sum = 0;
while(c index < 10) {
C sum = c_sum + calculation combination (coms.combinations]|
c_index]);
c index = c_index + 1;
}

return c_sum;

int main () {
struct Combinations coml;
struct Permutations perl;
coml.c answer = calculation(coml);
perl.p answer = calculation(perl);

return O;

Bt

Error type 15 at Line 6: Illegal use of assignment.
Error type 5 at Line 29: Type mismatched for assignment.
Error type 9 at Line 58: Arguments types mismatch for Function "

calculation (Combinations)".
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